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{ZYm©[aV g_` : 3 KÊQ>o    A{YH$V_ A§H$ : 80 

Time allowed : 3 hours Maximum Marks : 80  
 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 23 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| 25 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 23 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 25 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minutes time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) `h àíZ-nÌ VrZ ^mJm| _| {d^º$ h¡ – H$, I Am¡a J & 

(ii) ^mJ H$ g^r N>mÌm| Ho$ {bE A{Zdm`© h¡ & 

(iii) narjm{W©`m| H$mo eof ^mJ I Am¡a J _| go H$moB© EH$ ^mJ hb H$aZm h¡ & 

(iv) {H$gr àíZ Ho$ g^r ^mJm| Ho$ CÎma EH$ hr ñWmZ na {b{IE & 

General Instructions : 

(i) This question paper contains three parts A, B and C. 

(ii) Part A is compulsory for all candidates. 

(iii) Candidates can attempt only one part of the remaining parts B and C.  

(iv) All parts of the questions should be attempted at one place. 

^mJ H$ 

(gmPoXmar \$_m] VWm H$ån{Z`m| Ho$ {bE boIm§H$Z) 

PART A 

(Accounting for Partnership Firms and Companies) 

 

1. A§em| H$s g§ñWmJV {~H«$s H$m Š`m AW© h¡ ? 1 

What is meant by private placement of shares ?   

2. nr, Š`y VWm Ama EH$ \$_© _| gmPoXma Wo Omo bm^m| H$mo H«$_e: 5 : 4 : 3 Ho$ AZwnmV _| 

{d^m{OV H$aVo Wo & CZH$s ny±Or H«$_e: < 50,000, < 40,000 VWm < 30,000 Wr & Š ỳ 

Ho$ AdH$me J«hU H$aZo na \$_© H$s < 6,00,000 H$s »`m{V H$s am{e H$m g_m`moOZ eof 

gmPoXmam| Ho$ ny±Or ImVm| _| {H$g AZwnmV _| {H$`m OmEJm ? C„oI H$s{OE & 1 

P, Q and R were partners in a firm sharing profits in the ratio of  

5 : 4 : 3 respectively. Their capitals were < 50,000, < 40,000 and  

< 30,000 respectively. State the ratio in which the goodwill of the firm, 

amounting to < 6,00,000, will be adjusted in the capital accounts of the 

remaining  partners on the retirement of Q. 
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3. H$ånZr A{Y{Z`_, 1956 H$s gmaUr E Ho$ AZwgma `mMZm go nyd© àmá am{e na H$ånZr Ûmam 
{H$g Xa go ã`mO H$m ^wJVmZ {H$`m OmVm h¡ ? 1 

At what rate interest on calls-in-advance is paid by the company 

according to Table A of Companies Act, 1956 ? 

4. EŠg VWm dmB© gmPoXma h¢ & dmB© AnZo ~oQ>o ―Ho$‖ H$mo ì`dgm` _| àdoe {XbmZm MmhVm h¡ & 

Š`m ―Ho$‖ \$_© H$m gmPoXma ~Z gH$Vm h¡ ? H$maU ~VmBE & 1 

X and Y are partners. Y wants to admit his son K into business. Can K 

become the partner of the firm ? Give reason. 

5. EH$ gmPoXma Ho$ àdoe Ho$ g_` na gån{Îm`m| Ed§ Xo`VmAm| H$m nwZ_y©ë`m§H$Z Š`m| {H$`m OmVm 

h¡ ? 1 

Why are assets and liabilities revalued at the time of admission of a 

partner ? 

6. Cg Xo`Vm H$m Zm_ ~VmBE Omo pñW{V-{ddaU _| Zht {XIbmB© OmVr, bo{H$Z \$_© Ho$ g_mnZ 
Ho$ g_` CgH$m ^wJVmZ {H$`m OmVm h¡ & 1 

Name the liability which is not shown in the Balance Sheet, but paid at 

the time of dissolution of the firm. 

7. ―G$UnÌ‖ H$m Š`m AW© h¡ ? 1 

What is meant by ―Debenture‖ ? 

8. EH$ ì`dgm` {nN>bo Hw$N> dfmªo _| < 1,00,000 H$m Am¡gV bm^ A{O©V {H$`m h¡ & g_ê$n 
ì`dgm` H$s gm_mÝ` à{V\$b Xa 10% h¡ & ì`dgm` H$s gån{Îm`m| H$m _yë`  
< 10,00,000 Wm VWm ~mø Xo`VmE± < 1,80,000 H$s Wt & A{Ybm^ {d{Y go \$_© H$s 

»`m{V Ho$ _yë` H$s JUZm H$s{OE, `{X »`m{V H$m _yë`m§H$Z A{Ybm^ Ho$ 2
2

1  dfmªo Ho$ H«$` 

Ho$ ~am~a {H$`m OmVm h¡ & 3 

A business earned average profits of < 1,00,000 during the last few years. 

The normal rate of return in similar type of business is 10%. The assets 

of the business were < 10,00,000 and external liabilities were  

< 1,80,000. Calculate the value of goodwill of the firm by super profit 

method, if the goodwill is valued at 2
2

1
 years‖ purchase of super profits. 
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9. 1 Aà¡b, 2012 H$mo BpÊS>`Z ñnmoQ²>©g {b{_Q>oS Zo < 100 àË`oH$ Ho$ < 30,000 Ho$ 10% 

G$UnÌm| H$m {ZJ©_Z {H$`m & {ZJ©_Z nyU©ê$noU A{^XÎm hþAm & eVmªo Ho$ AZwgma ã`mO H$m 
^wJVmZ AY©dm{f©H$ {H$`m OmVm h¡ & df© 2012 – 13 Ho$ {bE G$UnÌm| na ã`mO Ho$ ^wJVmZ 

H$s Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE & 3 

Indian Sports Ltd. issued < 30,000, 10% debentures of < 100 each on  

1st April, 2012. The issue was fully subscribed. According to the terms 

interest is payable on half yearly basis. Pass necessary journal  entries 

for the payment of interest on debentures for the year 2012 – 13. 

 

10. _hmamUm {b{_Q>oS H$m _w»` ì`dgm` Q>m`a {Z_m©U h¡ & H$ånZr, H$ånZr A{Y{Z`_ Ho$ 

àmdYmZm| VWm go~r Ho$ _mJ©Xe©Zm| Ho$ àojU Ho$ {df` _| AË`ÝV gVH©$ h¡ & 1 Aà¡b, 2010 
H$mo H$ånZr Zo < 100 àË`oH$ Ho$ < 18,00,000, 8% G$UnÌm| H$m {ZJ©_Z {H$`m & BZH$m 

emoYZ 5% àr{_`_ na {H$`m OmZm Wm & 31 _mM©, 2013 H$mo, g^r G$UnÌm| H$m emoYZ H$a 

{X`m J`m & My§{H$ Q>m`am| H$m {Z_m©U H$aZo go dm`w àXyfU hmoVm h¡, AV:  H$ånZr Zo BgHo$ 
à^mdr {Z`ÝÌU Ho$ {bE EH$ g§`§Ì ñWm{nV {H$`m & 

 G$UnÌm| Ho$ emoYZ H$s Amdí`H$ amoµOZm_Mm à{dîQ>`m± H$s{OE VWm Cg _yë` H$s nhMmZ ^r 

H$s{OE Omo _hmamUm {b{_Q>oS> Ûmam Adbmo{H$V {H$`m J`m & `h _mZ {b`m J`m h¡ {H$ 
H$ånZr Ho$ G$UnÌm| Ho$ emoYZ g§M` ImVo _| n`m©á eof h¡ & 3 

Maharana Ltd‖s main business is manufacturing of tyres. The company is 

very particular about the observation of the provisions of the Companies 

Act and SEBI guidelines. On 1st April, 2010 the company issued  

< 18,00,000, 8% debentures of < 100 each. The debentures were 

redeemable at a premium of 5%. On 31st March, 2013, all the debentures 

were redeemed. Since the manufacturing of tyres results in air pollution, 

the company had installed a plant for its effective control. 

Pass necessary journal entries for the redemption of debentures. Also 

identify the value observed by Maharana Ltd. It is assumed that the 

company has adequate balance in Debenture Redemption Reserve 

Account. 
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11. grVm, JrVm VWm arVm gmPoXma Wt Omo bm^m| H$mo H«$_e… 2 : 2 : 1 Ho$ AZwnmV _| {d^m{OV 

H$aVr Wt &  31 _mM©, 2013 H$mo CZH$m pñW{V-{ddaU {ZåZ{b{IV Wm : 

 

pñW{V-{ddaU 31 _mM©, 2013 

 

Xo`VmE± 
am{e 
< 

gån{Îm`m±  
am{e 
< 

n±yOr :    

      grVm 1,20,000 amoH$‹S> 41,000 

      JrVm 80,000 ñH$ÝY 60,000 

      arVm 1,00,000 XoZXma 44,000 

boZXma 60,000 ^dZ 2,00,000 

Xo` {dnÌ 40,000 g§`§Ì 80,000 

bm^-hm{Z ImVm 25,000   

 4,25,000  4,25,000 

 

 Cn ẁ©º$ {V{W H$mo grVm Zo AdH$me J«hU {H$`m VWm {ZåZ{b{IV Ho$ {bE gh_{V hþB© : 

(i) ñH$ÝY H$m _yë`m§H$Z < 59,000; XoZXma < 40,000; ^dZ < 2,10,000;  
g§`§Ì < 70,000 VWm boZXmam| H$m < 50,000 na hþAm & 

(ii) grVm H$mo Xo` YZam{e CgHo$ G$U ImVo _| ñWmZmÝV[aV H$s OmEJr &  

nwZ_y©ë`m§H$Z ImVm VWm grVm H$m ny±Or ImVm V¡`ma H$s{OE & 4  



67/1/2 6 

Sita, Geeta and Rita were partners sharing profits in the ratio of 

2 : 2 : 1 respectively. Following was their Balance Sheet as at  

31st March, 2013 : 

Balance Sheet as at 31st March 2013 

Liabilities 
Amount 

< Assets 
Amount 

< 

Capitals :    

             Sita 1,20,000 Cash 41,000 

            Geeta 80,000 Stock 60,000 

            Rita 1,00,000 Debtors 44,000 

Creditors 60,000 Building 2,00,000 

Bills Payable 40,000 Plant 80,000 

Profit and Loss A/c 25,000   

 4,25,000  4,25,000 

On the above date Sita retired and following were agreed  : 

(i) Stock was valued at < 59,000; Debtors < 40,000; Building 

< 2,10,000; Plant < 70,000 and Creditors < 50,000. 

(ii) Amount due to Sita will be transferred to Sita‖s loan account. 

Prepare Revaluation Account and Sita‖s Capital Account. 

12. H$ {b{_Q>oS> H$m n§Or`Z < 10,00,000 H$s A{YH¥$V n±yOr go hþAm Omo < 10 àË`oH$ Ho$ 

g_Vm A§em| _| {d^º$ Wr & H$ånZr Zo 50,000 A§em| Ho$ {ZJ©_Z Ho$ {bE AmdoXZ Am_pÝÌV 

{H$E & 48,000 A§em| Ho$ {bE AmdoXZ àmá hþE & g^r `mMZm am{e _m±J br JBª VWm àmá 

hmo JBª Ho$db 1,000 A§em| H$mo N>mo‹S>H$a, {OZ na < 2 à{V A§e H$s A§{V_ `mMZm am{e Zht 

{_br & BZ g^r A§em| H$mo µOãV H$a {b`m J`m VWm ~mX _| < 9,000 na nyU© àXÎm nwZ: 

{ZJ©{_V H$a {X`m J`m &  

(i) H$ånZr A{Y{Z`_, 1956 H$s gmaUr VI, ^mJ I Ho$ AZwgma H$ {b{_Q>oS> Ho$ pñW{V 

{ddaU _| ―A§e ny±Or‖ H$mo {H$g àH$ma Xem©`m OmEJm ? 

(ii) Cn ẁ©º$ Ho$ {bE ―ImVm| Ho$ ZmoQ²>g‖ ^r V¡`ma H$s{OE & 4 
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A Ltd. was registered with an authorised capital of < 10,00,000 divided 

into equity shares of < 10 each. The company invited applications for the 

issue of 50,000 shares. Applications for 48,000 shares were received. All 

calls were made and were duly received except the final call of < 2 per 

share on 1,000 shares. All these shares were forfeited and later on  

re-issued at < 9,000 as fully paid. 

(i) Show how ―Share Capital‖ will appear in the Balance Sheet of 

A Ltd. as per Schedule VI, Part I of the Companies Act, 1956. 

(ii) Also prepare ―Notes to Accounts‖ for the same. 

 

13. (H$) amohZ VWm _mohZ> EH$ \$_© _| gmPoXma h¢ VWm H«$_e… 5 : 3 Ho$ AZwnmV _| bm^ 

{d^m{OV H$aVo h¢ & do ^r_ H$mo bm^ _§o 1/7 ^mJ Ho$ {bE gmPoXma Ho$ ê$n _| àdoe 

H$amVo h¢ & Z`m bm^ {d^mOZ AZwnmV 4 : 2 : 1 hmoJm & amohZ VWm _mohZ Ho$ Ë`mJ 

AZwnmV H$s JUZm H$s{OE & 

(I) A_bm VWm H$_bm EH$ \$_© _| gmPoXma h¢ VWm H«$_e… 4 : 1 Ho$ AZwnmV _| bm^ 

{d^m{OV H$aVo h¢ & CÝhm|Zo {~_bm H$mo bm^ _§o 1/4 ^mJ Ho$ {bE gmPoXma Ho$ ê$n _| 

àdoe H$am`m, {Ogo {~_bm Zo nyU©V: A_bm go àmá {H$`m h¡ & gmPoXmam| H$m Z`m 

bm^ {d^mOZ AZwnmV kmV H$s{OE &  2+2=4  

(a) Rohan and Mohan are partners in a firm sharing profits in the 

ratio of  5 : 3 respectively. They admit Bhim as a partner for 1/7 

share in the profit. The new profit sharing ratio will be 4 : 2 : 1. 

Calculate the sacrificing ratio of Rohan and Mohan. 

(b) Amla and Kamla are partners in a firm sharing profits in the ratio 

of 4 : 1 respectively. They admitted Bimla as a new partner for 1/4 

share in the profits, which she acquired wholly from Amla. 

Determine the new profit sharing ratio of the partners. 
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14. H$ {b{_Q>oS> Zo I {b{_Q>oS H$m MbVm hþAm ì`dgm` < 1,50,000 H$s YZam{e _| H«$` {H$`m 
{OgH$m ^wJVmZ < 10 àË`oH$ Ho$ 10,000 g_Vm A§em| H$mo < 2 àr{_`_ à{V A§e na 
{ZJ©{_V H$aHo$ VWm eof am{e H$mo amoH$‹S> _| ŵJVmZ H$aHo$ {H$`m J`m & gån{Îm`m± Ed§ Xo`VmE± 
{ZåZmZwgma br JBª : 

g§`§Ì – < 40,000; ^dZ – < 40,000; XoZXma – < 30,000; 

ñH$ÝY – < 50,000; \$ZuMa – < 20,000; boZXma – < 20,000. 

 H$ {b{_Q>oS> H$s nwñVH$m| _| Cn ẁ©º$ boZXoZm| Ho$ {bE Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE & 4 

A Ltd. purchased a running business from B Ltd. for a sum of  

< 1,50,000 payable by issue of 10,000 equity shares of < 10 each at a 

premium of < 2 per share and balance in cash. The assets and liabilities 

taken over were : 

 Plant – < 40,000; Building  – < 40,000; Debtors – < 30,000;  

 Stock – < 50,000; Furniture – < 20,000; Creditors – < 20,000. 

You are required to pass necessary journal entries for the above 

transactions in the books of A Ltd. 

 

15. EŠg, dmB© VWm O¡S> EH$ \$_© _| gmPoXma Wo & 1 Aà¡b, 2012 H$mo CZH$s ny±Or H«$_e:  

< 6,00,000; < 4,00,000 VWm < 2,00,000 Wr & gmPoXmar g§boI Ho$ àmdYmZm| Ho$ 
AZwgma dmB© < 12,000 à{V df© H$_reZ VWm EŠg < 1,200 à{V _mh doVZ àm{á Ho$ 
A{YH$mar Wo & gmPoXmam| H$mo ny±Or na 8% dm{f©H$ ã`mO àm{á H$m ^r A{YH$ma Wm & bm^m| 
H$mo ny±Or Ho$ AZwnmV _| {d^m{OV {H$`m OmZm Wm & 
31 _mM©, 2013 H$mo g_má hmoZo dmbo df© H$m ewÕ bm^ < 4,22,400 Wm, {OgH$m {d^mOZ 

Cn ẁ©º$ eVmªo H$mo Ü`mZ _| aIo {~Zm ~am~a-~am~a H$a {X`m J`m & AnZr H$m`© {Q>ßnUr H$mo 
ñnîQ>V`m {XIbmVo hþE, Cn`w©º$ Ho$ {bE Amdí`H$ g_m`moOZ à{dpîQ> H$s{OE & 6 

X, Y and Z were partners in a firm. On 1st April, 2012 their capitals stood 

as < 6,00,000; < 4,00,000 and  < 2,00,000 respectively. As per provisions 

of the partnership deed, Y was entitled for commission of < 12,000 p.a. 

and X for a salary of < 1,200 per month. Partners were also entitled to 

interest on capital @ 8% p.a. Profits will be shared in the ratio of  

capitals.  

Net profit for the year ended 31.03.2013 was < 4,22,400, which was 

distributed equally without taking into consideration the above 

provisions. Showing your workings clearly, pass necessary adjustment 

entry for the above. 
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16. H$, I VWm J EH$ \$_© _| gmPoXma h¢ Omo bm^m| H$mo H«$_e… 5 : 3 : 2 Ho$ AZwnmV _| {d^m{OV 
H$aVo h¢ & 31 _mM©, 2013 H$mo CZH$m pñW{V-{ddaU {ZåZ{b{IV Wm : 

pñW{V-{ddaU 31 _mM©, 2013 

Xo`VmE± 
am{e 
< 

gån{Îm`m±  
am{e 
< 

boZXma 12,000 amoH$‹S> 13,000 

g§M` 10,000 XoZXma 8,000 

n±yOr :  ñH$ÝY 10,000 

       H$ 30,000 _erZar 30,000 

       I 20,000 ^dZ 20,000 

       J 15,000 noQ>oÝQ²>g 6,000 

 87,000  87,000 

 1 AŠQy>~a, 2013 H$mo, ~r_mar Ho$ H$maU I H$s _¥Ë`w hmo JB© & \$_© VWm I Ho$ {ZînmXH$m| Ho$ 

_Ü` `h g_Pm¡Vm hþAm {H$ I H$mo Xo` YZam{e H$m Cn`moJ Jm±d _| EH$ gm_wXm{`H$ ^dZ 

~ZdmZo Ho$ {bE {H$`m OmEJm & g_Pm¡Vo Ho$ AZwgma : 

(i) »`m{V H$m _yë`m§H$Z {nN>bo nm±M dfmªo Ho$ Am¡gV bm^ Ho$ Xmo JwZo Ho$ ~am~a  
hmoJm, Omo : 2009 _| < 10,000; 2010 _| < 13,000; 2011 _| < 12,000; 
2012 _| < 15,000 VWm 2013 _| < 20,000 Wo & 

(ii) noQ>oÝQ²>g H$m _yë`m§H$Z < 8,000; _erZar H$m < 28,000 VWm ^dZ H$m < 30,000 

hþAm & 

(iii) _¥Ë`w Ho$ {XZ VH$ I Ho$ {hñgo Ho$ bm^ H$s JUZm, df© 2013 Ho$ bm^ Ho$ AmYma na 
hmoJr & 

(iv) n±yOr na 10% dm{f©H$ Xa go ã`mO {X`m OmEJm & 

(v) I Ho$ {ZînmXH$ H$mo Xo` am{e XmZ ImVo _| ñWmZmÝV[aV H$a Xr OmEJr & 

 (H$)  I Ho$ {ZînmXH$ H$mo àñVwV H$aZo Ho$ {bE CgH$m ny±Or ImVm V¡`ma H$s{OE  VWm 

 (I$) àíZ _| COmJa {H$E JE {H$gr EH$ _yë` H$s nhMmZ H$s{OE & 6 
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A, B and C are partners in a firm sharing profits in the ratio of 5 : 3 : 2 

respectively. Their Balance Sheet as on 31st March, 2013 was as follows : 

Balance Sheet as on 31st March, 2013 

Liabilities 
Amount 

< Assets 
Amount 

< 

Creditors 12,000 Cash 13,000 

Reserves 10,000 Debtors 8,000 

Capitals :  Stock 10,000 

                A 30,000 Machinery 30,000 

                B 20,000 Buildings  20,000 

                C 15,000 Patents 6,000 

 87,000  87,000 

On 1st October, 2013, due to illness B died. It was agreed between the 

firm and B‖s executors that the amount due to B will be used for 

construction of a community hall in the village. As per the agreement 

(i) Goodwill is to be valued at two years‖ purchase of the average  

profits of previous five years, which were : 2009 – < 10,000;  

2010 –  < 13,000; 2011 –  < 12,000;  2012 –  < 15,000 and  

2013 –  < 20,000. 

(ii) Patents were valued at < 8,000; Machinery at < 28,000 and 

Buildings at < 30,000. 

(iii) B‖s share of profit till the date of his death will be calculated on the 

basis of profit of the year 2013. 

(iv) Interest on capital will be provided at 10% p.a. 

(v) Amount due to B‖s executors will be transferred to Charity 

account.  

(a)   Prepare  B‖s capital account to be presented to his executor and 

(b)   Identify any one value being highlighted in the question.  
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17. (H$) gr {b{_Q>oS> Zo < 100 àË`oH$ Ho$ 1,000 A§em| H$mo, {OZH$m {ZJ©_Z < 8 à{V A§e 

Ho$ ~Å>o na {H$`m J`m Wm, µOãV H$a {b`m & BZ A§em| na < 30 à{V A§e H$s àW_ 

`mMZm am{e àmá Zht hþB© Wr VWm < 20 à{V A§e H$s ApÝV_ `mMZm am{e A^r 

_m±Jr Zht JB© Wr & ~mX _§o BZ A§em| H$mo < 70 à{V A§e H$s Xa go < 80 àXÎm na 

nwZ… {ZJ©{_V H$a {X`m J`m & 

 gr {b{_Q>oS> H$s nwñVH$m| _| Cn`w©º$ boZXoZm| Ho$ {bE Amdí`H$ amoµOZm_Mm à{dpîQ>`m± 

H$s{OE & 

(I) Eb {b{_Q>oS> Zo < 20 àË`oH$ Ho$ 470 g_Vm A§em| H$mo, {OZH$m {ZJ©_Z < 3 à{V 

A§e Ho$ àr{_`_ na {H$`m J`m Wm, µOãV H$a {b`m & BZ A§em| na < 8 à{V A§e 

H$s Am~ÝQ>Z am{e (< 3 àr{_`_ g{hV) VWm < 5 à{V A§e H$s àW_ `mMZm am{e 

H$m ŵJVmZ àmá Zht hþAm & < 5 à{V A§e H$s ApÝV_ `mMZm am{e A^r Zht 

_m±Jr JB© Wr & BZ_| go 235 A§em| H$m < 19 à{V A§e Ho$ ^wJVmZ na nyU© àXÎm ê$n 

go nwZ… {ZJ©_Z H$a {X`m J`m & 

 Eb {b{_Q>oS H$s nwñVH$m| _| Cn`w©º$ boZXoZm| Ho$ {bE Amdí`H$ amoµOZm_Mm à{dpîQ>`m± 

H$s{OE & 4+4=8  

AWdm 

 Ama {b{_Q>oS> Zo < 100 àË`oH$ Ho$ 10,000 g_Vm A§em| H$mo < 4 à{V A§e Ho$ ~Å>o na 

{ZJ©{_V H$aZo Ho$ {bE AmdoXZ Am_pÝÌV {H$E & am{e {ZåZmZwgma Xo` Wr : 

  AmdoXZ na – < 20 à{V A§e 

  Am~ÝQ>Z na – < 30 à{V A§e  

  àW_ Ed§ ApÝV_ `mMZm na – < 46 à{V A§e  

9,000 A§em| Ho$ {bE AmdoXZ àmá hþE VWm g^r AmdoXH$mo§ H$mo A§em| H$m Am~ÝQ>Z H$a {X`m 

J`m & g^r Xo` am{e`m± àmá hmo JBª Ho$db 400 A§em| H$mo N>mo‹S>H$a {OÝhm|Zo àW_ Ed§ ApÝV_ 

`mMZm am{e Zht Xr & BZ A§em| H$mo µOãV H$a {b`m J`m & µOãV {H$E hþE A§emo§ _| go,  

300 A§em| H$mo < 27,000 Ho$ ^wJVmZ na nyU© àXÎm nwZ: {ZJ©{_V H$a {X`m J`m & 

H$ånZr H$s nwñVH$m| _| Amdí`H$ amoµOZm_Mm à{dpîQ>`m± H$s{OE & 8 
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(a) C Ltd. forfeited 1,000 shares of < 100, each issued at a discount of 

< 8 per share. On these shares the first call of < 30 per share was 

not received and final call of < 20 per share was not made. 

Subsequently these shares were reissued at < 70 per share < 80 

paid up. 

 Pass necessary journal entries for the above transactions in the 

books of C Ltd. 

(b) L Ltd. forfeited 470 equity shares of < 20 each issues at a premium 

of < 3 per share for the non-payment of allotment money of < 8 

(including Premium < 3) and first call of < 5 per share. Final call 

of < 5 per share was not made. Out of these 235 shares were 

reissued at < 19 each fully paid. 

 Pass necessary journal entries for the above transactions in the 

books of L Ltd. 

OR 

R Ltd. invited applications for issuing 10,000 equity shares of < 100 each 

at a discount of < 4 per share. The amount was payable as follows : 

 On application – < 20 per share 

 On allotment – < 30 per share 

 On first and final call – < 46 per share 

Applications were received for 9,000 shares and allotment was made to 

all the applicants. All amounts due were received except the first and 

final call on 400 shares. These shares were forfeited. Out of the forfeited 

shares, 300 shares were reissued at a payment of < 27,000 fully paid up. 

Pass necessary journal entries in the books of the company. 
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18. Eë\$m Am¡a ~rQ>m EH$ \$_© _| gmPoXma Wo Omo H¥${Ì_ A§Jm| _§o ì`mnma H$aVo Wo & 1 Aà¡b, 
2013 H$mo CÝhm|Zo Jm_m H$mo, Omo ~rQ>m H$m ~hþV AÀN>m {_Ì h¡, gmPoXmar _| àdoe H$am`m & 
EH$ XþK©Q>Zm _| Jm_m Zo AnZm EH$ hmW Imo {X`m VWm Eë\$m Ed§ ~rQ>m Zo `h {ZU©` {b`m 
{H$ do EH$ H¥${Ì_ hmW Jm_m H$mo _wâV Xo X|Jo & 31 _mM©, 2013 H$mo Eë\$m Am¡a ~rQ>m H$m 
pñW{V-{ddaU {ZåZmZwgma Wm : 

Eë\$m Am¡a ~rQ>m H$m pñW{V-{ddaU 31 _mM©, 2013 H$mo 

Xo`VmE± 
am{e 
< 

gån{Îm`m±  
am{e 
< 

g§{X½Y G$Um| Ho$ {bE Am`moOZ 40,000 amoH$‹S> 1,00,000 

H$_©Mmar j{Vny{V© {Z{Y 56,000 {d{dY XoZXma 8,00,000 

AXÎm ì`` 30,000 ñQ>m°H$ 2,00,000 

boZXma 3,00,000 g§`§Ì 3,86,000 

n±yOr :  bm^-hm{Z ImVm 40,000 

       Eë\$m       5,00,000    

       ~rQ>m        6,00,000 11,00,000   

 15,26,000  15,26,000 

 Jm_m H$mo {ZåZ{b{IV eVmªo na \$_© _| àdoe {X`m J`m : 

(i) Jm_m AnZr ny±Or Ho$ {hñgo Ho$ ê$n _| < 4,00,000 bmEJm, bo{H$Z dh »`m{V Ho$ 

{bE H$moB© ^r am{e XoZo _| Ag_W© Wm & 

(ii) Eë\$m, ~rQ>m VWm Jm_m Ho$ ~rM Z`m bm^ {d^mOZ AZwnmV 3 : 2 : 1 hmoJm & 
(iii) H$_©Mmar j{Vny{V© H$m < 30,000 H$m Xmdm Wm & 

(iv) < 40,000 H$s am{e H$mo Sy>~V G$U Ho$ {bE An{b{IV H$aZm Wm & 

(v) boZXmam| H$mo < 20,000 H$m A{YH$ ^wJVmZ {H$`m J`m Wm & 
(vi) AXÎm ì``m| H$mo < 12,000 VH$ bmZm h¡ & 

(vii) AàË`m{eV Xo`Vm Ho$ {bE < 20,000 n«XmZ {H$E JE h¢ & 

(viii) \$_© H$s »`m{V H$m _yë`m§H$Z < 1,80,000 na {H$`m J`m h¡ & 
 nwZ_y©ë`m§H$Z ImVm, gmPoXmam| Ho$ ny±Or ImVo VWm ZB© \$_© H$m àmapå^H$ pñW{V-{ddaU V¡`ma  

H$s{OE & gmW hr {H$gr EH$ _yë` H$s nhMmZ H$s{OE Omo gmPoXma g_mO H$mo gåào{fV 
H$aZm MmhVo Wo & 8 

AWdm 
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 am_ Am¡a í`m_ EH$ \$_© _| gmPoXma Wo Omo bm^m| H$mo H«$_e… 2 : 3 Ho$ AZwnmV _| {d^m{OV 

H$aVo Wo & do d¥Õ hmo Mbo Wo VWm CZHo$ ì`dgm` H$s XoI^mb H$aZo dmbm H$moB© Zht Wm & 

AV: CÝhm|Zo ì`dgm` H$mo ~ÝX H$aHo$ CgHo$ {dH«$` go àmá YZam{e H$mo EH$ EZ.Or.Amo. H$mo 

XmZ _§o XoZo H$m {ZU©` {b`m & dh EZ.Or.Amo. ehar joÌ _| àXÿfU {Z §̀ÌU Ho$ {bE 

d¥jmamonU Ho$ H$m`© _§o g§b½Z Wr &  31 OZdar, 2014 H$mo CZH$m pñW{V-{ddaU {ZåZ{b{IV 

Wm : 

pñW{V-{ddaU 31 OZdar, 2014 

Xo`VmE± 
am{e 
< 

gån{Îm`m±  
am{e 
< 

boZXma 65,000 ^y{_ 1,20,000 

Xo` {dnÌ 35,000 _erZar 65,000 

n±yOr :  »`m{V 10,000 

      am_ 75,000 ñH$ÝY 25,000 

      í`m_ 75,000 XoZXma 20,000 

  amoH$‹S> 10,000 

 2,50,000  2,50,000 

 am_ Zo boZXmam| H$m ^wJVmZ 15% Ny>Q> na {H$`m VWm í`m_ Zo Xo` {dnÌm| H$m nyam ^wJVmZ 

{H$`m & gån{Îm`m| go dgybr Bg àH$ma hþB© : ^y{_ go 20% H$_; _erZar go < 35,000; 

ñH$ÝY go 25% H$_ VWm XoZXmam| go < 12,500 & dgybr ì`` < 1,750 H$m ^wJVmZ í`m_ 

Zo {H$`m &  

 dgybr ImVm, gmPoXmam| Ho$ ny±Or ImVo VWm ~¢H$ ImVm V¡`ma H$s{OE & gmPoXmam| Ûmam g_mO 

H$mo gåào{fV {H$gr EH$ _yë` H$s nhMmZ ^r H$s{OE & 
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Alfa and Beta were partners in a firm. They were trading in artificial 

limbs. On 1st April, 2013 they admitted Gama, a good friend of Beta into 

the partnership. Gama lost his one hand in an accident and Alfa and 

Beta decided to give one artificial hand free of cost to Gama. The Balance 

Sheet of Alfa and Beta as at 31st March, 2013 was as follows : 

Balance Sheet of Alfa and Beta as at 31st March, 2013 

Liabilities 
Amount 

< Assets 
Amount 

< 

Provision for Doubtful 

Debts 
40,000 Cash 1,00,000 

Workmen‖s 

Compensation Fund 
56,000 Sundry Debtors 8,00,000 

Outstanding Expenses 30,000 Stock 2,00,000 

Creditors 3,00,000 Machinery 3,86,000 

Capitals :  Profit and Loss A/c 40,000 

        Alfa        5,00,000    

       Beta        6,00,000 11,00,000   

 15,26,000  15,26,000 

Gama was admitted in the firm on the following terms : 

(i) Gama will bring in < 4,00,000 as his share of capital, but he was 

unable to bring any amount for goodwill.  

(ii) The new profit sharing ratio between Alfa, Beta and Gama will be 

3 : 2 : 1. 

(iii) Claim on account of workmen compensation was < 30,000. 

(iv) To write off bad debts amounted to < 40,000. 

(v) Creditors were paid < 20,000 more. 
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(vi) Outstanding expenses be brought down to < 12,000. 

(vii) < 20,000 be provided for an unforeseen liability. 

(viii) Goodwill of the firm was valued at < 1,80,000. 

Prepare Revaluation Account, Capital Accounts of Partners and the 

opening Balance Sheet of the new firm. Also identify any one value which 

the partners wanted to communicate to the society. 

OR 

Ram and Shyam were partners in a firm sharing profits in the ratio of  

2 : 3 respectively. They become old and no one was there to look after 

their business. Therefore, they decided to dissolve the business and 

donate the amount available to an NGO who are providing service for 

growing trees in urban areas to control pollution. On 31st January, 2014 

their Balance Sheet was as follows : 

Balance Sheet as on 31st January, 2014 

Liabilities 
Amount 

< Assets 
Amount 

< 

Creditors 65,000 Land 1,20,000 

Bills Payable 35,000 Machinery 65,000 

Capitals :  Goodwill 10,000 

        Ram 75,000 Stock 25,000 

        Shyam 75,000 Debtors 20,000 

  Cash 10,000 

 2,50,000  2,50,000 

Ram paid the creditors at a discount of 15% and Shyam paid Bills  

Payable in full. Assets realised as follows : Land at 20% less; Machinery 

at < 35,000; Stock at 25% less and Debtors at < 12,500. Expenses on 

realisation < 1,750 were paid by Shyam. 

Prepare Realisation Account, Partners‖ Capital Accounts and Bank 

Account. Also identify any one value which the partners communicated to 

the society. 
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^mJ I 

({dÎmr` {ddaUm|  H$m {díbofU) 

 

 PART B 

                                      (Financial Statements Analysis)  

 

19. ―amoH$‹S> àdmh‖ H$m Š`m VmËn`© h¡ ? 1 
What is meant by ―Cash flow‖ ? 

20. {dÎmr` {ddaUm| Ho$ {díbofU H$s {H$gr EH$ gr_m H$m C„oI H$s{OE & 1 
State any one limitation of analysis of financial statements.  

21. H$maU g{hV ~VmBE {H$ amoH$‹S> àdmh {ddaU V¡`ma H$aVo g_` EH$ _erZar Ho$ {dH«o$Vm H$mo 
_erZar Ho$ H«$` Ho$ {bE < 50,000 Ho$ 9% G$UnÌ {ZJ©{_V H$aZo H$m Š`m n[aUm_ hmoJm 

— amoH$‹S> H$m AÝVdm©h, ~{hdm©h AWdm H$moB© àdmh Zht ? 1 
State with reason whether the issue of 9% debentures to a vendor for the 

purchase of machinery of < 50,000 will result in inflow, outflow or no 

flow of cash while preparing Cash Flow Statement. 

22. H$ånZr  A{Y{Z`_, 1956  H$s n[aemo{YV  gmaUr VI ^mJ I Ho$ AZwgma H$ånZr Ho$  

pñW{V-{ddaU _| {ZåZ{b{IV _X| {H$g _w»` erf©H$ Ho$ AÝVJ©V Xem©B© OmE±Jr : 3 

(i) XrK©H$mbrZ G$U 

(ii) ì`mnma Xo`VmE± 

(iii) H$a Ho$ {bE Am`moOZ 

(iv) à{V^y{V àr{_`_ g§M` 

(v) noQ>|Q²>g 

(vi) Cnm{O©V Am` 
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State under which major headings  the following items will be presented 

in the Balance Sheet of a company as per revised Schedule VI Part I of 

the Companies Act, 1956 : 

(i) Long Term borrowings  

(ii) Trade Payables  

(iii) Provision for tax 

(iv) Securities Premium Reserve   

(v) Patents   

(vi) Accrued Incomes 

 

23. {ZåZ{b{IV go ―gH$b bm^ AZwnmV‖ VWm ―H$m`©erb ny±Or AmdV© AZwnmV‖ H$s JUZm 
H$s{OE : 4 

   am{e (<) 

àMmbZ go AmJ_ 30,00,000 

àMmbZ go AmJ_ H$s bmJV 20,00,000 

Mmby gån{Îm`m± 6,00,000 

Mmby Xo`VmE± 2,00,000 

àXÎm A§e ny±Or 5,00,000  

 

From the following calculate the ―Gross Profit Ratio‖ and ―Working 

Capital Turnover Ratio‖ : 

   Amount (<) 

Revenue from operations 30,00,000 

Cost of Revenue from operations 20,00,000 

Current Assets 6,00,000 

Current Liabilities 2,00,000 

Paid up share capital  5,00,000 
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24. EŠg dmB© O¡S> {b{_Q>oS> Ho$ 31 _mM©, 2012 VWm 2013 H$mo g_má hþE dfmªo Ho$ bm^-hm{Z 

{ddaU go CÕ[aV {ZåZ{b{IV gyMZm Ho$ AmYma na, VwbZmË_H$ bm^-hm{Z {ddaU V¡`ma 

H$s{OE : 4 

{ddaU 31.03.2013 

< 

31.03.2012 

< 

àMmbZ go AmJ_ 48,00,000 30,00,000 

H$_©Mmar bm^mW© ì`` 22,00,000 18,00,000 

AÝ` ì`` 2,00,000 4,00,000 

H$a Xa 40% 40% 

 

From the following extract of the Statement of Profit and Loss for the 

years ended 31st March, 2012 and 2013 of XYZ Ltd., prepare a 

Comparative Statement of Profit and Loss : 

 

Particulars 
31.03.2013 

< 

31.03.2012 

< 

Revenue from operations 48,00,000 30,00,000 

Employees‖ Benefit Expenses 22,00,000 18,00,000 

Other Expenses 2,00,000 4,00,000 

Tax Rate 40% 40% 
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25. {ZåZ{b{IV pñW{V-{ddaU go amoH$‹S> àdmh {ddaU V¡`ma H$s{OE :   

 
 

{ddaU 
ZmoQ> 

g§»`m 
31.3.2013 

< 
31.3.2012 

< 

I – g_Vm VWm Xo`VmE± :    

1. A§eYmar$ {Z{Y :    

 (A)  A§e ny±Or  6,30,000 5,60,000 

 (~)  g§M` Ed§ Am{YŠ` 1 3,08,000 1,82,000 

2. Mmby Xm{`Ëd :    

 ì`mnm[aH$ Xo`VmE±  2,80,000 1,82,000 

                                                  Hw$b  12,18,000 9,24,000 

II – n[agån{Îm`m± :    

1. AMb n[agån{Îm`m± :    

        ñWm`r n[agån{Îm`m± :    

       g§`§Ì  3,92,000 2,80,000 

2. Mmby n[agån{Îm`m± :    

 (A)  ñH$ÝY  98,000 1,40,000 

 (~)   ì`mnm[aH$ àm{á`m±  6,30,000 4,20,000 

 (g)   amoH$‹S> VWm amoH$‹S> Vwë`  98,000 84,000 

                                                  Hw$b  12,18,000 9,24,000 

ImVm| Ho$ ZmoQ²>g 
ZmoQ> g§»`m$ 1 

{ddaU 
31.3.2013 

< 
31.3.2012 

< 

g§M` Ed§ Am{YŠ` 
Am{YŠ` (bm^-hm{Z {ddaU H$m eof) 

3,08,000 1,82,000 

 A{V[aº$ gyMZm : 

(i) EH$ nwamZr _erZar H$mo, {OgH$m nwñVH$ _yë` < 42,000 Wm, < 56,000 _§oo ~oM 

{X`m J`m & 

(ii) df© Ho$ Xm¡amZ _erZar H$s õmg H$Q>m¡Vr < 28,000 Wr & 6 
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 Prepare a Cash Flow Statement from the  following Balance Sheet : 

 
 

Particulars  
Note 

No. 

31.3.2013 

< 
31.3.2012 

< 

I – Equity and Liabilities :    

1. Shareholder’s Fund :    

 (a)  Share Capital  6,30,000 5,60,000 

 (b)  Reserves and Surplus 1 3,08,000 1,82,000 

2. Current Liabilities  :    

 Trade Payables  2,80,000 1,82,000 

                                            Total  12,18,000 9,24,000 

II – Assets :    

1. Non-Current Assets :    

        Fixed Assets :    

        Plant   3,92,000 2,80,000 

2. Current Assets :    

 (a)   Inventories  98,000 1,40,000 

 (b)   Trade Receivables  6,30,000 4,20,000 

 (c)   Cash and Cash Equivalents  98,000 84,000 

                                           Total  12,18,000 9,24,000 

 

Notes to Accounts 

Note No. 1 

Particulars 
31.3.2013 

< 
31.3.2012 

< 

Reserves and Surplus 

Surplus (Balance in Statement of Profit and Loss) 
3,08,000 1,82,000 

Additional Information : 

(i) An old machinery having book value of < 42,000 was sold for  

< 56,000.  

(ii) Depreciation provided on machinery during the year was < 28,000. 
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^mJ J 

(A{^H${bÌ boIm§H$Z) 
 

PART C 

(Computerised Accounting) 

 

19. gm_mÝ`rH$aU Š`m h¡ ? 1 

What is normalisation ? 

20. A{^H${bÌ boIm§H$Z àUmbr Ho$ {H$gr EH$ bm^ H$m C„oI H$s{OE & 1 

State any one advantage of Computerised Accounting System. 

21. {H$Ýht Xmo {d{Y`m| H$mo Xr{OE {OZgo e§H$m (Šdoar) CËnÞ H$s Om gH$Vr h¡ & 1 

Give any two ways in which a query can be created. 

22. A{^H${bÌ boIm§H$Z àUmbr Ho$ AZw_m{nVm (ñHo$bo{~{bQ>r) VWm {dídgZr`Vm bjUm| H$mo 

g_PmBE & 3 

Explain Scalability and Reliability features  of Computerised Accounting 

System. 

23. Am±H$‹S>m-AmYma (S>mQ>m~og) Ho$ A{^bú`m| Ho$ ê$n _§o gma{U`m|, AmH¥${V`m|, à{VdoXZm| VWm 

ñWyb (_¡H«$moµO) H$mo g_PmBE & 4 

Explain Tables, Forms, Reports and Macros as database objects.  

24. EH$ gyÌ H$s ghm`Vm go g_§H$m| H$m AZwg_W©Z H$aZo dmbo H$X_m| H$m C„oI H$s{OE & 4 

State the steps to validate data with a formula. 
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25. (H$) ñà¡S>erQ Ho$ Cg H$m`© H$m Zm_ ~VmBE VWm g_PmBE Omo Xmo Ad{Y`m| Ho$ _Ü` g§{MV 
ã`mO ^wJVmZ na JUZm H$aVm h¡ &  

(I) {ZåZ{b{IV gyMZm go EoŠgob na J¥h {H$am`m ^Îmo H$s JUZm hoVw gyÌ H$s JUZm  
H$s{OE :  

 _yb doVZ < 25,000 VH$ 20% H$s Xa go VWm Cggo D$na 25% H$s Xa go & 2+4=6 

 

(a) Name and explain the function of spreadsheet which calculates the 

cumulative interest paid between two periods. 

(b) Calculate the formula from the following information on Excel for 

computing House Rent Allowance : 

 Basic salary upto < 25,000 at 20% and above it at 25%. 

 


